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R : in =30 > pf=10x——=0.1745 rad /s :
& AR\ p F=10x7g5 >
OB B .. -
¢ = W % B=20x—-=0.349 rad /s’
e \@ : 180

| & e BB |

: - A 0 =40x——=0.698 rad /s

8 ]‘ 180

| =& 1

r =b cos g +csin f=300x0.866+200x0.5=359.8 mm

r= (-bsin g+ccos B) f=(—300x0.5+200x0.866)x0.1745 = 4.05 mm /s

A | 2
2
i

r= (-bsing+c cos,B)BJr(—b cos ff—cC sin,B),B
—_-2.86 mm/s?

e 63 g o



s8n  f=30° &8 o abasd s dalad Llit dwlra 83105l ol Lgllan .5g o e5litw] P S5 dalad yaiul slp saio obsy S 5 175-2 dlfus

ﬁ:ZOdeg/s ,B:lOdeg/s I RGN

aile 0 3505 b g Sy e 53 AP 5 AD (lagilb.as iz 0 0=40 deg/s wob Kol b wbs, 4l

o&‘\“““ @ ' z=h+bsing-ccospp — z_(bcosﬂ+csm,8)ﬁ tde
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‘\J

il \@ ’ z =(bcosp+csinp) p+(-bsin g +ccosp) p

/ 2
P =126.3 mm /s

. 300 e

N\
'Y " \ \
1 o |
\

a =r-rf =-2.86-359.8x0.698° =-178.23 mm /s’
a,=r0+2r0=0+2x4.05x0.698=5.65 mm /s’

a :1263 mm /s?
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v, =800x

- o

sSIn/5

p
v, =800i km/h i: Vgcos45 =800-v,,, cos60’

=717 km /h
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Vg =, c0s45")i +(V, Sin45) ji VvgsindS =vg,,sin60
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Vg,a =V, +VZ —2,v, cos60" =58.2 ft /sec
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 QsgianS 059308 51 o lizasl b
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a, =3ft/sec

g, =3 +4.4° —2x3x4.4xc0s30" = 2.34 ft /sec’

44 234
sing  sin30

P

sinl(%j =110.2°

I\ 3
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} Vaig =Va — Vg s
L — X
18 . ) 27
= —| = Q=3x—:0.3l4rad/8
V, I =5l 50

Ggad dlin | ) S5y

ll

V. s =31+1.999) m/s

Apg =8, —dp

a, =3i m/s?

> |2, =3.63i+0.628j m/s?
a; =(9x0.314%)(—cos45i —sin45j) m /s’
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